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2021
ENGLISH ESSAY, PRECIS WRITING AND COMPOSITION
Time Allowed — 3 Hours Full Marks — 100

If the questions attempied are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

(Do not write your name, address etc. anywhere inside the
answer book. Write X, Y, Z if necessary)

The figures in the margin indicate marks for each question.

1. Write an essay on any one of the following topics :
\,G’)/ Should Stock Exchange be banned in India?
(ii) To earn money should be the sole aim in life.
(iii) Environmental Awareness should be a compulsory subject for class-X students.

(iv) Movies in India today are a shadow of their former glory.

e

2. Attempt a précis of the given passage and a suitable title : il
25+3

There was a time when society was almost static in its vision, Children followed the occupatlon of
their parents and transmitted thetr know]edoe and sk111 to their own chlldren There was httle chance from

ways of living and the outlook of the masses. What men percewed in the contemporary events Wh]Ch they
witnessed was their intensity, their violence, and not their evolutionary trend which was invisible to them.

One can rea]ly say that the 11fe honzons of the majonty of men in ﬁj@gth_oentury Europe were

Indian peasant of the beginning of this century was workmo under the same immediate aims of life,
aJmost the same environment, as his ancestors three thousand years ago.

The hard facts of nature the pressing necessities of human life were accepted as they were, and the
idea that a concerted effort and w1ll could bring about a oradua] improvement of economic and social

conditions was almos_t non-existent, Refu ge was taken in the hope of a distant heaven after death or of a

future rebirth upon earth or of a ﬁnal liberation from this apparently aimless chain of lives.

3. Read the passage given below and answer in your own words the questions that follow :

King Alfred the Great is often considered the “father of English prose™ because it was during the

r-...——nw

last decade of his reign that he provided the impetus for the Anglo-Saxons to turn to the vernacular as the
vehicle for legal, ecclesiastical, medical. historical, philosophical and theological writings. As part of his
plan to revive religious and secular learning in an England that had not only been ravaged by years of
Viking attacks, but also in which large numbers of Viking invaders had begun to settle, Alfred brought
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English and continental scholars to his court. He did more, however, than merely place a royal stamp
upon this revival; he played an active role in it by translating several texts and by composing original
prefaces to some of them. Although Alfred is widely acknowledged to have translated the texts generally
attributed to him, his role in producing any of thern cannot be established, and we are similarly unable to
know with any certainty whether the translations from Latin are entirel y his or if he was aided by some of
the learned members of his Court. all of whom would have had much more extensive training in Latin
than the king. who acquired knowledge of Latin fairly late in his life.

Thanks to the biography of the Welsh Cleric and scholar Asser, one of the scholars Alfred
brought to his Court. we have considerably more information available to us about Alfred’s life than we
do for any other Anglo-Saxon king. Although we should not blindly accept as truth everything Asser
relates, the picture that his biography paints of 2 man who highly valued learning is entirely consonant
with what we know of the man who sought to revive learning in England, and in doing so helped place the
vernacular English literary tradition on secure footing.

e e e

Lh

(2) What is the importance of Asser in the field of English biography?

th

(b) What steps did Alfred take to execute his plan of revival of leaming in England?

(c) “It is established beyond doubt that the translations from Latin are Alfred’s own and not

those of anybody else.” Do you agree? Give reasons for your answer. 5
(d) According to the passage. what did Alfred do for the vernacular in England? 5
4. Amplify the idea contained in any one of the following: i3

(a) Those who live in glass houses should not throw stones.

\(b!/é stitch in time saves nine.

(c) Once bitten, twice shy.
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Time Allowed — 3 Hours Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

The figures in the margin indicate marks for each question.

Do not write your name, address etc. anywhere inside the answer book.
Write X, Y, Z if necessary.

BENGALI ESSAY, PRECIS WRITING AND COMPOSITION
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In the rural industrial sector, though most of the artisans are engaged in village industries, they
cultivate. As a result, the pressure on lands increases. All of the artisans have been reinstated in
their own ancestral vocation. Of course, they have been granted industrial loan by the Government

for this. These loans are to be repaid in easy instalments. Again most of them have purchased and
materials and modern tools and machineries with the help of these

>0

30

stored a good quantity of raw
Joans. As a result, their cost of production has decreased and their working efficiency has increased.
pent either in the reclamation of their lands on

It is true that in many cases these loans have been s
ghters. But in cases where procurement of loans is very difficult this sort of

the marriage of their dau
expenditure is not unlikely.
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HINDI ESSAY, PRECIS WRITING AND COMPOSITION

I. Write an essay on any one of the following subjects: 35
AT EEA-3 e« et A @ st
(@) ¢ foen Af3-2020 : wHed i dhand
(1) SANES H G Fed § T q=wet

2

Write an imaginary dialogue between two friends on any one of the following topics: 10
() =gt S F garen w feufa
(@) e Ran-gm ; giaen ok srgfasmd

3. Write the meaning of the following phrases and make sentences with them: 10

() A Srern
(@) Tt =g Sem
(M) Tis = @

() Sl Jeral frern
(®) =gl ssem

. 25
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& R 1R 7 e TRt e & fore T R 1 wemor: g ween W 3w adhe

ﬂ./ 5. Translate into Hindi:

[

/4'.’ Make a Précis of the following passage and write a suitable title: €11 ¢ .7 7 &

-

20
In the rural industrial sector, though most of the artisans are engaged in village industries, they

cultivate. As a result, the pressure on lands increases. All of the artisans have been reinstated in
their own ancestral vocation. Of course, they have been granted industrial loan by the Government
for this. These loans are to be repaid in easy instalments. Again most of them have purchased and
stored a good quantity of raw materials and modern tools and machineries with the help of these
loans. As aresult, their cost of production has decreased and their working efficiency has increased.
Itis true that in many cases these loans have been spent either in the reclamation of their lands on

the marriage of their daughters. But in cases where procurement of loans is very difficult this sort of
expenditure is not unlikely.




(3) MAA(C)-B,H,U,N/21

URDU LETTER WRITING, DRAFTING OF REPORTS, PRECIS WRITING,
COMPOSITION AND TRANSLATION

1. Give a Précis of the following passage with a suitable title: 20+5=25
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2. Write an essay on any one of the following:
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3. Write an imaginary dialogue of two friends on any one of the following: 10
£ - .
WA IR X] (...:-3‘
At 2 (&)
£ iadil .,
.:,:‘Iid. 2ot {;,)
Lo iinn ®)
4. Give the meaning of any five of the following and use them in your own sentence: 10
o i T o ¢ it 8 Fe tre e s s
=lsasl/ jJ:"t/I":U’:Jt-U!A’U(u- =l 88—l re O I AU it
g = §ios
i PA PR VI
5. Translate into Urdu: 20

In the rural industrial sector, though most of the artisans are engaged in village industries, they
cultivate. As a result, the pressure on lands increases. All of the artisans have been reinstated in
their own ancestral vocation. Of course, they have been granted industrial loan by the Government
for this. These loans are to be repaid in easy instalments. Again most of them have purchased and
stored a good quantity of raw materials and modern tools and machineries with the help of these
loans. As aresult, their cost of production has decreased and their working efficiency has increased.
It is true that in many cases these loans have been spent either in the reclamation of their lands on

the marriage of their daughters. But in cases where procurement of loans is very difficult this sort
of expenditure is not unlikely.
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NEPALI ESSAY, PRECIS WRITING AND COMPOSITION
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Write a Précis of the following passage with a suitable title:
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Translation into Nepali:
In the rural industrial sector, though most of the artisans are engaged in village industries, they
ses. All of the artisans have been reinstated in

cultivate. As a result, the pressure on lands increa
ncestral vocation. Of course, they have been granted industrial loan by the Government

Iments. Again most of them have purchased and
ern tools and machineries with the help of these
eased and their working efficiency has increased.
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of expenditure is not unlikely.
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GENERAL KNOWLEDGE AND CURRENT AFFAIRS

Time Allowed — 3 Hours Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

Answers may be given either in English or in Bengali
but all answers must be in one and same language.

Group-A

1. Mention the name of the authors of the following books. Ix10=10

(i) Second Sex
(i) Social Change in Modern India

(iii) Silent Spring
(iv) Light on Yoga
(v) My Journey — Transforming Dreams Into Actions
(vi) The Story of my experiments with truth
(vii) The Prince
(viii) The Book of Laughter and Forgetting
(ix) Makers of Modern India

(x) Love in the Time of Cholera
Ix3=10

2. Short Questions:

“(i) Define ecofeminism.
(i) Whose names were associated with Bramha Samay?

"('m-) What is the Doctrine of Lapse?

(iv) Who were the moderate leaders of Indian Natonal Congress”
: 4

(v) Why 1s B R, Ambedkar called Babasaheb

o IxS=1%

3. Who's who: (Short Information about the following persuns]

(i) Adoor Gopalakrishnan
(ii) Don Bradman
(1i1) Steven Wenberg
(iv) Maya Angelon

) Tavlor Alison Swift __
(v) Tay lor Abso Please Turn Over
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4. Short answer type questions: i
1) Genetic Engineering
(i1) ‘Citizen’s Charter
(iii) Chipko Movement
((.iv) Give an account of Quit India Movement

(v)- What do you know about Chandrayaan-3?

3. Answer the following questions: 5%5=25
(i) What is the rank of India in the Global Gender Gap Index 20237
_(ii) Explain the importance of Global Environmentalism.
- ._-A1ii) What are the social issues of artificial intelligence? e N T
(iv) What is Jayaprakash Narayan’s total revolution?
(V) What were the findings of the Towards Equality Report (1974)?

Group-B

6. Attempt any mwo questions : 10x2=20

_ () Write a note on the fundamental duties of citizens of India.
(ii) Explain the history of Section 377 (IPC) in India.
—iii) Discuss the objectives of good governance.

(iv) Why Calcutta was considered as the third city in the world to get electric power?
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Ti”.'(,‘ A”f) . a
Ifthe gy . ,
[ the questiony dtempted are in excess of the preseribed nber, onf Y the yuestions Y

dttempted first up to the preseribed number shall e vatyed %~
and the remaining oney ignored, / |
Answers may be given either iy Englivh vy in Bengali
but all answers must be in one and same lunyuaye, -
Answer all questions,

1. _¢ e ”
~) TnaG.p sum of first nterms is § where fisst ters i

n=1+ 19_3_&_]9&5’.

et aned corntnn yatio 35 £, Vrove s

7’\,? (b) Using G.P. find rationa] expression of (1935 545510
2.~ ' .
@ Ifq person takes a home loan of 10 Jakhs for 15 years with a rate of interest Y% P #1357
compounded monthly. What will be his EMI (Equated Monthly Instalmemn),

-

A [Given: (1-0075)"% = 0-2605, (0-7395)" = 1354
(b) How many ways letlers of the word COCACOLA can be arranged such that first and Jas
terms are C and A respectively always? 3+5=10
3. % Slmphfy xf08z1 15- yIOE’.)z 21- Zlogzz 35

_AD) Tfvo type of mixtures of Darjeeling and Assam tea are sold in the market a1 Rs, 140% 2nd
Rs. 1045 per kg. In the first Darjeeling and Assam tea are mixed in 2 ratio of 4:1 wherezs in
the other mixture it is in the ratio 2:1. If there is a profit of 10%, find the cost price of
Darjeeling and Assam tea. 5+5=10

4 @ Find the Arithmatic mean and Standard deviation of
weel 203 % 4 B

1 2 3 4..n
@:Uﬂin runs at a speed of 50 kmph from A to B and from B to C speed is 60 kmph. If the
distance from A to B is 140 km and from B to Cis 110 km, then find the average speed of the

rain. 7+3=10

5. (a)/Inaclass 31 failed in English, 38 failed in Mathematics and 48 failed in Accountancy. Also
15 failed in both English and Mathematics, 18 failed in both Mathematics and Accountanc¥é
20 failed in both Accountancy and English. If 10 students failed in all 3 subjects and 4 students
passed in all 3 subjects then find the number of students in the class.
: (U)/’Ifﬂx) =227 - 3x? +.x+ 5, then compute fix) for x = 0, 1, 2, 3. 4 and construct the difference
?e. Find also A%(1). 6+4=10
bt

6. (@ tain the Spearman Rank cm‘relatiop co-efficient from the following data:
x 68 64 75 50 64 80 75 40 55 64
62 58

68 45 81 60 68 43 50 70

y:
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| . » +oad a0
/\(}& 10 coins are tossed n times. Find the correlation CO“"mC]eﬂl between number of h?]jrS::]O
mber of tail.
7 Choose a suitable Interpolation formula to find the missing values of the function-
x 0 1 2 3 4 5
fx: 2 8 = 20 - 32
Write logic to justify your choice.
/\{‘(PQ Standard deviation is calculated on a data set x;, i =0, 1, 2. ... 10 and found to be Yo .If -
gﬂlcu]a[ed ony, i=0,1,2,..10 wherey; =2x; + 3, then what will be standard deviation o
P ta set of y,? 8+2:10
A8 (a) "he following table gi i
give . i i
%n the calculation of cost.s 081{' Tlil?;gii’ég;mbers and _welghls of different heads of expenditir®
Group Index Weight R -.
Food . 221 35
Clothing 198 14
Fuel i 15
Rent 183 8
Miscellaneous 161 20

If the cost of living Index is 193, find the Index Nu

mber of Fuel group-

deal Index number: 4+6=10

B\9)/0n the basis of the following information calculate the Fisher’s 1
Base Year Current Year
Commodity Price Quantity Price  Quantity
A 2 40 50
B 4 50 8 40
C 6 20 9 30
D 8 10 6 20
E 10 10 5 20

(&

(a) Following are marks obtained by 590 students in a certain ex
/ of students secured marks

between 90 and 100.

amination. Find out the number

Marks Number of Students

below 20 250 &
20 -40 120
40 - 60 100

6080 70

80— 100 50

A g
(¥) How man

Is it possible that

y numbers are divisible by 5

between 100 to 10,0

(0 (Both numbers are excluded)?
6+4=10
n lines? If so find their

Op 3= § and 3x + 2y = 9 are two regressio

Y &

(b), The analysis of results of
~# ofRs.12000n food item

correlation co-efficient.

a budget survey of 150 family gave an average
with a standard deviation of Rs. 150. After the &
ded for one family was wrongly taken a5

monthly expenditure

nalysis is completed
150 instead of 1050.
4+6=10

it is found that the figure recor
Determine the correct value of the

average expenditure and standar

d deviation.
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AUDITING
Time Allowed — 3 Hours Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the questions
attempted up to the prescribed number shall be evaluated

and the remaining ones ignored.
Answers may be given in English or Bengali, but all answers must be in one and the same language.

Answer any five questions.

1. (a) Discuss the provisions of Companies Act, 2013 regarding unclaimed dividend.
(b) Distinguish between Narrative records and Check-lists.

_(c) Discuss auditor’s duty with respect to vouching of payments of wages and salaries.

(d) Explain what is meant by Adverse or Negative report. 5+5+54+5=20

Y How will you as an auditor verify copyright?
%) What are Audit Working Papers? Who can claim the ownership of these papers? Explain with

reference to the relevant standatd on Auditing,

(o) Explain in brief the relationship between Materiality and Audit Risk.
5+5+5+5=20

_d) What are the social objectives of audit?

) (a) Discuss the applicability of CARO, 2020
. }b) The first auditor of Ltd., a government company was appointed by the Board of Directors.
‘ Is the appoinment valid? Discuss with reference to sections of Companies Act, 2013.

\g/)/ While conducting the audit of a limited company for the year ended 31st March, 2023, the
auditor wanted to refer to the minutes book. The Board of Directors refused to show the

minutes book to the auditor. What would you do as the auditor?

Briefly explain the rights of a company auditor. 5+44+6+5=20

(a)/ What are the circumstances where auditing through computer must be used?

(bJ You have been appointed auditor of Dr. A Hospital. Discuss any five points that would attract
your attention while audit.

(£) State the requirements relating to audit sampling, sample design, sample size and selection of

items for testing.
«(d)”What are the provisions regarding appoinment of subsequent auditors of a Government and
Non-Government company? 6+4+5+5=20

@ ;’a//)Exp}afn the objectives of the auditor regarding written Representations.
)

Enumerate the circumstances under which retiring auditor can be re-appointed.

~éJ Discuss the objectives of Environment Audit.

‘S’ What is Emphasis of Matter Paragraph, when it is used? 5+5+5+5=20

17 ' ' Please Turn Over
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rite short note on any four:
Cost Audit
(b) Auditor’s Lien
(c) Walk-through test
&}d’)ﬂ Tolerable Error and Expected Error

b(éf Green Audit

\_(D/Quality of an auditlor

5%4=20
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INDIAN FINANCIAL SYSTEM
Full Marks : 100

Thwe Allowed @ 3 Hours
W the guestions attemptod are in axcess of the prescribed number, only the questions attempted

first up to the prescribed number shall be valued and the remaining ones ignored.

Answeors may be glven elther in English or In Bengall but all answers

]
must be In one and the same language.

Answer Questlon No. 1 and any four from the rest, 8x5=40
1. Answer any five from tho followlng -
i Distingulsh-between money market and capital market.

Ufﬂ

(b) . State the objectives of Credit Rating,

‘\IE?/ Outline the basic structure of financial system,

(d)  ‘The registration of Merchant Banking follows SEBI regulations’- Justify your answer.

What Is Repo Rate ? How does It differ from SLR 7

Glve an account of Indirect finance.

\ d{ ~Who are the rﬁaln participants of Indlan call money market ?

W

JV Explain any two functions of R8I,

Distinguish between nominal Interest rate and real interest rate.

(- Discuss the varlous methods of credit control as it Is followed by the R8I, 15
3, ‘The IRDA of India performs functions, execute powers within the specified objectives’ -
Discuss the statement, 15
oA (a) Distingulsh between commercial bank and central bank. 7
(b) Explain the concept of money multiplier, 8
L% (a)  Glvean account of LIC of India. Gy V31 10
(b) . - ‘Life Insurance and general insurance differs in certain aspects’ - Justify the
Statement., ! 5
A What role do brokers play in stock market ? in this respect, explain the concept of sub
Brokers ? 10+5=15
7. (a)  Discuss on the role of finance in an economy. 3
7

Glve an account of recent changes in interest rate structure in India.

(b)
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2021
COST & MANAGEMENT ACCOUNTING

Time Allowed — 3 Hours Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

Answers may be given either in English or in Bengali
but all answers must be in one and same language.

Answer Question No. 8 and any five from the rest.

1. (a) From the following information calculate re-order level, maximum level and minimum level

of stock:
Re-order quantity 60,000 units
Minimum stock level to allow for emergencies 5 weeks
Average lead time 4 weeks
Average consumption rate per week 5000 units
Minimum consumption in 4 weeks 16000 units
(b) A company buys its annual requirement of 3,60,000 units in six installments. Each unit costs
Rs. 10 and the ordering cost is Rs. 250. The inventory carrying cost is estimated at 2% of unit
! 3 - - . ""_.-—-.——_—
value. Find the total annual cost of the existing inventory policy. How much money can be
Saved by using E.0.Q?
(c) The stock of meterial held on 01.04.23 was 400 units @5 per unit. The following receipts and
o issues were recorded. You are required to prepare the Stores Ledger Account, showing the
f issues would be calculated under FIF
values of issu (/}/
Date Particulars
02.04.23 Purchased 100 units @ Rs. 5.5 p.u.
06.04.23 Issued 400 units
09.04.23 Purchased 600 units @ Rs. 6.5 p.u.
12.04.23 Issued 400 units
(d) Differentiate between cost control and cost reduction, mentioning any 4 points.
4+4+4+4=16
29108 Please Turn Over

115
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2. () A workman takes 9 hours to complete a job on daily wages and 6 hours on a scheme of

\
payment by results, His hourly rate is Rs.20. The Material cost of the product is Rs. 40 and

factory overheads are recovered at 150% of the total direct wages. Calculate the factory cost

of the product under following methods: (a) Time Rate system, (b) Halsey plan,

(¢) Rowan plan

(b) Two plumbers, a man and a woman undertake a job (on piece rate basis) for R'; 3 72 ' The

time spent by each of them is 220 ordinary working hours. The rates of pay on time rate basis

are Rs. 3.75 per hour for each of the two fitters, Rs. 2.5 per hour for the ma
e-work premium and the share of each worker, when

nand Rs. 1.25 per

hour for the woman. The amount of piec

i\)\_-\‘,? the picce-work premium is divided proportionately to the wages paid. Compute the selling
q O \ price of the above job on the basis of the following additional data:
/’/ Cost of the direct material Rs. 5,025; works overhead at 20% of prime cost; selling overhead
3 at 10% of works cost and profit at 25% on cost of sales
Y
. ((.)’ Gross pay Rs. 30,90,000 (including cost of idle tlmc hours paid to employee Rs. 75,000):
€ )\. Accommodation provided to employee free of cost [this accommodation is owned by employer,

depreciation of accommodation Rs. 3,00,000, maintenance charges of the accommodation
Rs. 2,70,000, municipal tax paid for this accommodation Rs. 9,000], Employer’s Contribution
(o P.F. Rs. 3,00,000 (including a penalty of Rs. 6,000 for violation of PF rules), Employee’s
Contribution to P.F. Rs. 2,25,000. Compute the employee cost. 6+6+4=16

Aa) Inafactory, the expenses ¢ of a factory are charged on a fixed percentage basis on wages and

office over hu.nd expenses are Ld'tllldl(,d on the basis of pcrccnhwc ut \\nrk\ COSL. You are

required to find the rate of factory and office overheads.

hml‘I;lI(,uldIS 1 ()rdu 11 Ordc.r :]I
“b;;;riall ‘”“31.25(} | 4.‘;.()(}()w ;
Wages D G 25,000 35,000 3
“Slq._“:ll g,Pri:L 1,12,125 | 1,54,700 E
Percentage of profit on cost 15% 12% ﬁ




(b)

4 ><a
{

) The data pertaining to Héavy Engineeri

(SN

(3)
— N

Cost of machine 50,000 ‘ :_

Estimated life 10 years '

Scrap Value (Rs.) 5,000 N Ve

Working time 2,200 j £ ] g ]

(50 weeks of 44 hours each) -

Machine maintenance p.a. 200

(in hours)

Setting up time estimated at 5% of productive time .{ ]

Electricity is 16 units per hour @ 10 paise per unit

Chemicals required weekly (Rs.)| 100

LEV
Maintenance cost per year (Rs.) | 6,000 _-ﬁ-}:’_/
L - )

Two workers control the o;;?‘dms of the machine together with 6 other machines, their
combined wegkly wages are R&: 700. Departmental overhead allocated to this machine annually
is Rs. 10,09{ Calculate the machine hour rate. 8+8=16 ™ >
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ng Ltd. using are as follows at the end of 31.03.2022.

Direct material Rs. 90,000; direct wages Rs. 75,000; Selling and distribution overhead
Rs. 52,500; Administrative overhead Rs. 42,000, Factory overhead Rs. 45,000 and Profit

Rs. 60,900.

(i) Prepare a cost sheet showing all details.

(ii) For 2022-23, the factory has received a work order. It is estimated that the direct matenials
would be Rs. 1,20,000 and direct labour cost is Rs. 75,000. What would be the price of

a work order if the factory intends to earn the same rate of gross profit on sales, assuming

selling and distribution overheads has gone up by 15%? The factory overheadis recovered

as a percentage of direct wages and administrative and selling and distribution overheads

as a percentage of works cost, based on cost rates prevalent in the previous year.

A
\7,
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(4)

(b) Prepare a Statement Reconciling the figures shown by the cos

on the figures given below:

rProi'ils as per financial accounts mﬂ
Profits as per cost accounts 42,990

Director’s fee not charged in cost accounts 975

Provision for bad and doubtful debts 855

Bank interest credited 45

Income tax 12,450

Overheads as per cost accounts 12,750

Overheads as per financial accounts 12,480
Depreciation on building charged in 1,200
financial accounts

t and financial accounty baseq

10+6=16

\/5( (a) A product passes through three processes— A, B and C. 10,000 units at a cost of

A

(b)

Rs. 3.30 were issued to Process A. The other direct expenses were as follows:

Process-A| Process-B | Process-C
Sundry materials 4,500 4,500 4,500
Direct labour 13,500 24,000 19,500
Direct expenses 3,000 3,000 4,509

The wastage of process A was 5% and in process B 4%. The wastage from process A was
sold at Rs. 0.75 per unit, and that of B at Rs. 1.5 per unit and that of C at Rs. 3. The overhead
charges were 160% of direct labour. The final product was sold at Rs. 30 p.u. fetching a profit
of 20% on sales. Find out the percentage of wastage in process C. Show the necessary process

accounts.

X, Y Ltd. manufactures product A which yields two by-products B and C. The actual joint
expenses of manufacturing for a period were Rs. 8,200. The profits on each product as a

] ;
percentage of sales are 33 §% , 25% and 15% respectively. Subsequent expenses are as follows:

Particulars A B 84
Material 500 | 225 125
Labour 1000 | 625 250
Overhead 750 625 225
2250 | 1475 600
Sales 30,000 |20,000 | 12,500

Apportion the joint expenses.

10+6=16
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6. (a) There are two warehouses for storing finished goods produced in a factory. Warehouse ‘A’ is

' at a distance of 10 kms. and Warchouse ‘B’ is at a distance of 15 kms. from the factory.
A fleet of 5 tonne lorries is engaged in transporting the finished goods from the factory.
The records show that the lorries average a speed of 30 kms. per hour when running and
regularly take 40 minutes to load at the factory. At warehouse ‘A’ unloading takes 30 minutes
per load while at warehouse ‘B’ it takes 20 minutes per load. Drivers’ Wages, depreciation,
insurance and taxes amount to Rs. 180 per hour operated. Fuel oil, tyres, repairs and
maintenance cost Rs. 24 per kilometer. You are required to draw up a statement showing the
cost per tonne Kilometer of carrying the finished goods to the two warehouses.

(b) The following figures are supplied to you by a contractor for the year ending 31st December,

2022,
Particulars Amt. (Rs.) PR ol
. at’ /
Work in progress on 31.12.2021 42,500 j. et
Less: Cash received from contractee 27,500 1 L~
15,000 e
at

During the year:

Wages 4250
Material Bought 3000
Working Expenses 750
Mat issued from stores 5250
Administrative expenses (Rs. 125 chargeable to 625

Profit & Loss A/c)

Plant 1250
Material returned to supplier 225
Material returned to stores 215 .7
Works certified 7500
Contract finished 11250
Profits taken upon contracts 5750
Advances from contractee 20000

Prepare a Contract Ledger A/c, total contractee’s and show work in progress as it would
appear in the balance sheet. 6+10=16
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- (6)
«‘/ a) : : i s
(2) A company is at present working at 90 per cent of its capacity and producmg 13 500 umts peT
annum. It operated a flexible budgetary system. The following figures are cbtzined from i
budget.
| Particulars I 90% | I 00%
Sales 118.75.000 |  20.00.000
| | N p—=_
Fixed expenses | 375625 3.5 750
\ , |
Semi-fixed expenses E 1.21,875 | 125625 |
!
| Variable expenses 1.81.250 | 1.86.875 |
| Units made 13.500 | 15,000 |

Labour and material costs per unit are constant under present conditions. Profit margin

is 10%.

(i) You are required to determine the differential cost of producing 1.500 units by increasing

capacity to 100%.

(i) What would you recommend for an export price for these 1.500 units taking into account

that overseas prices are much lower than indigenous prices?

\(9/ The standard set for material consumption was 10kg. @ Rs. 22.5 per kg.

In a cost period:

~

Opening stock was 10kg. @ Rs. 22.5 per kg \
Purchases made 50kg. @ Rs. 21.5 per kg.
Consumption 11 kg.
Calculate the Material Usage and Price variance in the following situations:
(i) When variance is calculated at point of purchase
(ii) When variance is calculated at point of issue on FIFO basis

(i1) When variance is calculated at point if issue on LIFO basis R+8=16
Q+0=

APV ~ \;ﬁ AR
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(a) X Ltd. supplied clothing items of Y Ltd. The production capacity of X Ltd. facilitates production
of any one item for a particular period of time. The following are the cost and other information
for the production of the two different items, shirt and dress:

Particulars Shirt Dress

Per unit

Cloth used 1.6 mtrs | 1.6 mtrs

Machine Time: Cutting 0.6 hrs | 0.25 hrs

Machine Time: Dyeing 0.5 hrs | 0.55 hrs

Target Price 1450 1150

Target hours available:

Machine A 4,000 hours

Machine B 4,500 hours \2.6‘50 VY2 1@\‘2

Cloth Available is 13,000 kgs @ 125 mtr.

Variable overheads per machine hour:
Machine A: Rs. 800, Machine B: Rs. 1000

@)
(it)

(b) The following is the statement of a Radical Co. for the month of June:

eifoats <

Rs M/wm :

Identify the item—shirt or dress that will maximise the contribution at the offered price.

If Y Ltd. reduces target price by 10% and offers Rs. 600 per hour of unutilized machine
hour, calculate the total contribution from the clothing item identified above?

Products
Particulars L M Total
Sales 1,50,000 | 1,50,000| 3,00,000
Variable cost 1,05,000 | 75,000 | 1,380,000
Contribution 45,000 | 75,000 | 1,20,000
Fixed cost 90,000
Profit 30,000

You are required to compute the P/V ratio for each product and then compute the P/V Ratio,

Break-even Point and Net profit for the following assumption.
(i) Sales revenue divided 60% to Product L & 40% to Product M.

(ii) Sales revenue divided 40% to product L. & 60% to Product M. 10+10=20



2021 MAA(O)-MNGM/21

BUSINESS MANAGEMENT

Time Allowed : 3 Hours , Full Marks : 100

if the questions attempted are in excess of the prescribed number, only the questions attempted

first up to the prescribed number shall be valued and the remaining ones ignored.

Answer may be given either in English or in Bengali but all answers

must be in one and the same language.

At Ly

Answer Question No. 1 which is compulsory and four from the rest :-

s Write short note of the following questions :-

L_,(a) Responsibilities of top level management.

YY)~ Break-even analysis.

28 Mc gregor’s tr'uaory X.
\Ad) Departmentation by customer. 5x4=20
%f (a) Explain the elements of stm‘ﬂng. 10
(b) Discuss the importance of stu(ﬁng. 10
@ 3. (a)” ) Explain the factors affecting Span of management. 10
(bj/ What are the barriers to effective delegation of authority ? 10
/@=,_ 4. g_fa) Critically analyse the nature of management.y 10
N %}f— Why social responsibility of management is so important 2— 10
@ 5. \/(3)/ Analyse the importance of strategic planning. 10
\ty Elaborate the types of planning premises. 10
x (a) Define autocrétic teadership. Analyse types of autocratic leadership. 4+6=10
(b) Explain the importénce of manpower planning. 10
i @ »{a‘)’ What are the sources of recruitment ? 10
m @ by~ Whatarethe traditional tools of control ? 10
¢y 1 ‘;“L



